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(1) EEtai(v) UWTHOERIZEY v =8 %
(2)BeA58E (m)
_ 1 _
al= - 57 = 1.191
100
m = a1 X SL = 1.191 X 24 = 28.6 N/mf’
EoT m = 28.6 N/mf
(3)AKEAXALFEMW/C) m = -17.4 + 26.3 X C/W
W/C = 26.3 + (28.6 + 17.4) X 100 = 57 % = [60% (_-FR{H) ]
SW/C = 57 %
(4) B kE (W) UTHEOERIZLY W = 150 ke/m
(5)BEfiE A FE(C) C =W = (W/C) X 100 = 150 = 57 X 100 = 263 ke/mt
Cv=C + BE = 263 ~ 3.04 = 87 2/
(6)ZE5E(A) A = 4.5 % X 1000 = 45 2/
() MEME(s /a) UTHEOEREICEY s/a = 43.0 %
(8)HENMHFME(S) Sv = (1000 — WH+Cv+A)) X s/a = 718 X 43.0 % = 309 2 /m
Slv = Sv X 80.0 % = 247 2 /m S1= SIvXEEEE = 247 X 2.59 = 640 keg/nt
S2v = Sv X 20.0 % = 62 2 /m S2= S2vXKEEE = 62 X 3.50 = 217  kg/m
(9) BB M=(G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 591 = 409 £ /m
Glv = Gv X 60.0 % = 245 2 /ni Gl= GIlvXREEE = 245 X 2.70 = 662 kg/m
G2v = Gv X 40.0 % = 164 £ /mi G2= GoAXEHEE = 164 X 2.70 = 443 kg/m
(10) By EAAIE (ADAdL = C X FHNE X BE = 263 X 0.500 % X 1.00 = 1.32 ke/m
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